Efficiency vs dr

x 0.2

<

©0.18

30.16

c

[0}

50.14f -+

=

@ 0.12F -+
0.1t
0.08}
0.06{|
0.04
0.02f

q

i

L7141 A HEHE

| "'“HUY'I
—— DOM_V0001_R000000001__ Global__CKF__RECO
—— DQM_V0001_R000000001__Global__mkFitl_RECO

Ratio

[T T T T I
0 +

—— DQM_V0001_R000000001__Global__mkFit2_RECO

0.5

107 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.02
00.018F
- E
%J.OlG_
®.014F
> o
D.012F
@

2 E
£ 0.01
@ E
0.008[
0.006F
0.004F
0.002F

q

0.8

Ratio

0.6F

1073 1072

-1

1
AR(TP, jét)

Efficiency vs pu

-0.05
3 ST S
e A R S

e o
[ E : : : : :
D.035F - f - A S S
£ E : : : : :

© 0,03} TS OO TR T

0.025F 41 =
b W*TH*##H 1| ——
.0.012— ----- ! #ﬁﬂ#glw 21 S
q ‘# L1
x 05_ ##&g&&%ﬁ Un......

Pileup



	Contents
	Page 1


